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COLLEGE ALGEBRA EXAaM 1 DG R? NAME

SHCOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.

TURN IN ALL WORKSHEETS. GRAPHING CALCULATORS ARE REQUIRED ON THIS
TEST. (WHEN CALCULATORS ARE USED, SKETCH THE GRAPH, DESCRIBE THE
WINDOW, OR OTHERWISE INDICATE WHAT YOU DID!!) YOU MUST SHOW ALIL WORK!!

In 1 - 3, factor completely and simplify if possible:

1. 92’ - 16ab’ 2. (X+Y)? + B(X+Y) + 4

1 1

3. (1 -X2)7% + X%(1-x% 2 4a) Simplify: (1 + i)*

b) Divide (give answer in form
using fractions)

6 - 1
4 + 1
5. Simplify the fraction: 6. Sketch and find the roots of
— - 3 Y= X° - 5X* - 6X
X2 -x-2 X? - BX+ 6




In 7 - 9, simplify the radicals (rationalize denom). Give radical -

form:k
7a)  /54x°y" 8a) 12 9. PARRE]
/2 R

10. Simplify by using definitions or calculator:

-2 3
3 2

a) 8 b) -25
In 11 - 18, solwve for X:
11, p=_2I 12. 13X - 6] = |2x + O]
Xty

In 13 - 16, give exact radical form (use complex numbers if necessary):

13. (X + 8)2 = 27 14. X(X - 6) = -2



15. X2 + 68X + 13 =0 16. X*-8% -9 =20

17. XTI +/E=56 18, X1 L6 X 0

In 19 - 20, us= the calculator to find the value. Round to nearest
hundredth or give scientific notation.

19a) 864,000 x 980,000,000 20a) /750
127.3 .7 - 5 - /3
b) { ——) o b) Vr‘ J~
0.00025 | Je + /3
6.2 x 10° 850
¢) | Leex 10 ) 850
9.6 x 10°° JO.00035
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